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1.	 	 m – n + k	= 8
+	 m + n + k	= 12	 →   10 + n = 12   ⇒   n = 2
	 2m + 2k	= 20
	 m + k	= 10
•	 m = 6	 ve	 k = 4	 için	 m = n + k	 doğru olabilir.
•	 m = 2	 ve	 n = 2	 için	 m = n	 doğru olabilir.
•	 m = 6	 ve	 k = 4	 için	 m > k	 doğru olabilir.
•	 m = 5	 ve	 k = 5	 için	 m = k	 doğru olabilir.
•	 m  +  k  =  10
	 10	 .	 0	 →	 10 ≠ 2.0
	 9	 .	 1	 →	 9 ≠ 2.1
	 8	 .	 2	 →	 8 ≠ 2.2
	 7	 .	 3	 →	 7 ≠ 2.3
	 6	 .	 4	 →	 6 ≠ 2.4	eşitlik sağlanmaz.

Cevap: E

2.	
	 a + b	= 10
x	 a – b	= 2
	 a2 – b2	= 20

⇒ a2 – b2 + 2(a + b) = 20 + 2.10 = 40  olur.
Cevap: E

3.	 •	 y
x  = –3   ⇒   x = –3y

•	 	 5x – 2y	 = 34	 (x = –3y)
	 	–15y – 2y	 = 34
	 	 –17y	 = 34   ⇒   y = –2

Cevap: A

4.	 a b
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	 ⇒   a.b = –48   olur.
Cevap: A

5.	 	 	 a + b	= x6

	 	 a + c	= z3

	 +	 b + c	= y2

	 	 2(a + b + c)	= x y z
6 2 3

3 2
+ +
^ ^h h

	 	 2.6	= x y z
6
3 2+ +

	 	 2.6.6	= x + 3y + 2z
⇒	 x + 3y + 2z = 72  olur.

Cevap: D

6.	 3m = 5n = 2k = 30
m = 10,   n = 6,   k = 15
⇒	 x + y	= 10
	 y + z	= 6   →   küçüklerin arasında olmayan x 

büyük

	 x + z	= 15   →   büyüklerin arasında olmayan y 
küçük

⇒  y < z < x
Cevap: A

7.	 •	 a b
ba 6+ = 	 ⇒	 10b + a	 = 6a + 6b

	 	 4b	 = 5a
	 	 b	 = 5  ve  a = 4  olur.

•	 ab
a b
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4 5

45
9

5
1+

=
+
= =    olur.

Cevap: C
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8.	 •	 x + y
3  = 3	 ⇒	 y

xy 3+  = 3	 ⇒	 xy + 3 = 3y

•	 y + x
3  = 9	 ⇒	 x

xy 3+  = 9	 ⇒	 xy + 3 = 9x

				    ⇒	 3y = 9x

						     y x3=

⇒  x
x y

x
x x3 3 32 2+ +

=c `m j  = 62 = 36  olur.

Cevap: C

9.	 •	     2/	 3a + b	 = 15
	 –	 2b + c	 = 6      
	 6a – c	 = 24

•	 	 36a2 – c2 = 48
	 	 (6a)2 – c2	 = 48
	 	(6a – c) (6a + c)	 = 48
	 	 24.(6a + c)	 = 48
	 	 6a + c	 = 2

•	 	 6a – c	= 24
	 –	 6a + c	= 2
	 	 –2c	= 22

	               c 11–=

Cevap: A

10.	 		 3/ x – 2a	 = 7
		 3z – 4b	 = 5

+	 2
3 / 2y – 2c	 = 32

		 3x + 3y + 3z – 6a – 4b – 3c	 = 21 + 5 + 1
		 3(x + y + z) – 6a – 4b – 3c	 = 27     (x + y + z = 5)
	
		 5
		 15 – 6a – 4b – 3c = 27
		 6a + 4b + 3c	 = –12   olur.

Cevap: C

11.	
x y
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=  = 8   olur.

Cevap: B

12.	 	 –6/ 3x – y	 = 20
+	 11x + y + 7z	 = 29       
	 –7x + 7y + 7z	 = –120 + 29
	 7(z + y – x)	 = –91
	 z + y – x	 = –13   olur.

Cevap: D

13.	 	 x + y
1 	 = ?. y x

1
+` j

	 y
xy 1+ 	 = ?. x

xy 1+

	 ?	 = y
x

Cevap: A

14.	 •	 x + y + z = 18   ⇒   y + z = 18 – x
•	 x.y + x.z = 81
	 x.(y + z) = 81
	 x.(18 – x) = 81
	 18x – x2 = 81     →	 x2 – 18x + 81	= 0
	 		 (x – 9)2	= 0
	 		 x	= 9  olur.

Cevap: C


